

Uro-Thomas Aden

Winfred 181411065

Mechanics Engineering

$$\frac{dy}{dx} + y \tan x = 2 \sin x$$

$$\frac{dy}{dx} + \frac{y \sin x}{\cos x} = 2 \sin x$$

$$P = \frac{\sin x}{\cos x}$$

$$e^{\int P dx} = e^{\int \frac{\sin x}{\cos x} dx} = \cos x$$

$$\int P dx = \ln \cos x$$

$$y \cdot IF = \int Q \cdot IF dx$$

$$y \times \cos x = \int 2 \sin x \cos x dx$$

$$y \times \cos x = \int \sin(2x) dx$$

$$y \times \cos x = +\frac{1}{2} \cos(2x) + C$$

$$y \times \cos x = \frac{1}{2} \cos^2(x) + C$$

$$y = \frac{-1}{2 \cos x} + \cos x + C (\cos x)^{-1}$$

$$y = \frac{-1 + \cos^2 x + 2C}{2 \cos x}$$

$$y = \frac{-1 + \cos^2 x + A}{2 \cos x}$$

$$\frac{dy}{dx} + 2y = e^{3x}$$

$$P = 2$$

$$\int P dx = 2x$$

$$IF = e^{\int P dx} = e^{2x}$$

$$IF \cdot y = \int Q \cdot IF dx$$

$$e^{2x} \cdot y = \int e^{2x} \cdot e^{3x} dx$$

$$e^{2x} \cdot y = \int e^{5x} dx$$

$$e^{2x} \cdot y = \frac{e^{5x}}{5} + C$$

$$y = \frac{e^{3x}}{5} + C e^{-2x}$$



$$x \frac{dy}{dx} = x^2 + 2x - 3$$

$$x \frac{dy}{dx} = x + 2 - \frac{3}{x}$$

$$y = \int x + 2 - \frac{3}{x} dx$$

$$y = \frac{x^2}{2} + 2x - 3 \ln x + C$$

$$\frac{dy}{dx} + \frac{y}{x} = y^3$$

$$y^{-3} \frac{dy}{dx} + \frac{y^{-2}}{x} = 1$$

$$z = y^{1-3} = y^{-2}$$

$$\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$$

$$-2y^{-3} \frac{dy}{dx} - \frac{2y^{-2}}{x} = 1$$

$$\frac{dz}{dx} - \frac{2z}{x} = -1$$

$$p = -2/x \quad \int p dx = -2 \ln x = \text{IF} = e^{\int p dx} = e^{-2 \ln x} = \frac{1}{x^2}$$

$$z \cdot \text{IF} = \int Q \cdot \text{IF} dx$$

$$z \cdot \frac{1}{x^2} = \int -2 \cdot \frac{1}{x^2} dx$$

$$z \cdot \frac{1}{x^2} = \int \frac{+2 \times 1}{x} + C$$

$$\frac{z}{x^2} = \frac{2}{x} + C$$

$$z = 2x + Cx^2$$



$$\frac{1}{y^2} = 2x + cx^2$$

$$y^2 = \frac{1}{2x + cx^2}$$

$$y = \sqrt{\frac{1}{2x + cx^2}}$$

$$x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$$

$$\frac{dy}{dx} = x \sin 3x + 4x^{-2}$$

$$y = \int x \sin 3x + 4x^{-2} dx$$

$$u = x \quad dv = \sin 3x$$

$$du = 1 \quad v = -\frac{1}{3} \cos 3x$$

$$uv - \int v du$$

$$y = -\frac{1}{3} x \cos 3x - \int -\frac{1}{3} \cos 3x dx + \int 4x^{-2} dx$$

$$y = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x + \left( -\frac{4}{x} \right)$$

$$y = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x - \frac{4}{x}$$

$$(x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

$$\frac{dy}{dx} = \frac{2y^3}{x^3 + xy^2}$$

$$y = vx \quad \frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$\frac{dy}{dx} = \frac{2v^3 x^3}{x^3 + v^2 x^3}$$

$$\frac{dy}{dx} = \frac{2v^3}{1+v^2}$$



$$v + v \frac{dv}{dn} = \frac{2v^3}{1+v^2}$$

$$2v \frac{dv}{dn} = \frac{2v^3 - v - v^3}{1+v^2}$$

$$\frac{dv}{dn} = \frac{v^3 - v}{1+v^2}$$

$$\frac{1+v^2 dv}{v^2 - v} = \frac{1}{n} dn$$

$$\frac{1+v^2}{v(v^2-1)} dv = \frac{1}{n} dn$$

$$\frac{1+v^2}{v(v+1)(v-1)} dv = \frac{1}{n} dn$$

$$\frac{1+v^2}{v(v+1)(v-1)} = \frac{A}{v} + \frac{B}{v+1} + \frac{C}{v-1}$$

$$1+v^2 = A(v^2-1) + Bv(v-1) + Cv(v+1)$$

$$v^2: A+B+C=1 \quad -1+B+B=1 \quad 2B=2$$

$$v: -B+C=0 \quad 2B=2$$

$$C=B$$

$$B=1, C=1$$

$$v^0: -A=1$$

$$A=-1$$

$$\int \left( \frac{-1}{v} + \frac{1}{v+1} + \frac{1}{v-1} \right) dx = \int \frac{1}{n} dx$$

$$-\ln v + \ln(v+1) + \ln(v-1) = \ln n + C$$

$$-\ln v + \ln(v+1) + \ln(v-1) = \ln n + \ln A$$

$$\ln \left( \frac{(v+1)(v-1)}{v} \right) = \ln(A \cdot n)$$

$$\frac{v^2-1}{v} = A \cdot n$$

$$\frac{y^2-x^2}{x^2} = Ay$$

$$\frac{y^2-x^2}{x^2} = Ay$$

$$Ax^2y = y^2 - x^2$$

$$y^2 = Ax^2y + x^2 = x^2(Ay + 1)$$